ng ZO\ > W “ : P(oo‘gs iwwa\v'wﬁse*s

ge}" N\@\N\\Q&M\E\Q

C - ix:Poy ] | g xeh:PO)

We vegh 4o S\/»O\A:P(a) W&MQ&*@@MW:
- atA A P(OL)

Subsﬁ;f @6/ 101%0(\{%\?5.

Recall - A <€ 1 ol prombess LN are alo i .

T St VWX,
V’xéA) xé&fd
or eqiudathy, — Oehoack

G¥ 6%(/\'\\10]6\/\%'\‘])
oéR 2a¢A

How to Prove AcB
(Direct approach)
Proof. SupposeacA.

How to Prove AcB
(Contrapositive approach)
Proof. Suppose a ¢ B.

Therefore a € B. Therefore a ¢ A.
Thus a € A implies a € B, Thus a ¢ B impliesa ¢ A,
so it follows that A c B. [ ] so it follows that A c B. [ ]
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Progogition: Suppose ARB,C ax sefs amd C# .
T€ AxC = Rxc, Then A=K,

pfoo£=
Swgpri b B, C ar sefs and € ¢ .

Fuddhr ewppore. AxC = R=C.
l. Show: AxC ¢ 8xC
2. 8o s BxC e AxC

Sugpese, AxC =T8xC.

First, shos A € R.
S, € # @, Yhere €x3K Core c<C.
For oy G 6 A, T means (G )6 Nx(,
Be cavse, AXC = BXC, 1z meas (a){):@xc.
2, dfration P ccieean prduds Thil rmame
a ¢ 3. Mhyefor= A < .
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